Mul	tip	lying	bv	1	to	7	(H)
111 (1)		' <i>J</i> 5	$\boldsymbol{\sigma}_{\boldsymbol{y}}$	_	U	,	(エエノ

Name:	Date:	Score:

Calculate each product.

$$7 \times 4 = \boxed{2 \times 2 = \boxed{7 \times 3}} =$$

$$4 \times 3 = \boxed{} 7 \times 3 = \boxed{}$$

$$1 \times 6 = \boxed{ 6 \times 1 = \boxed{}}$$

$$6 \times 7 =$$
 $2 \times 1 =$ $5 \times 4 =$ $5 \times 7 =$

$$3 \times 4 = \boxed{ 3 \times 7 = \boxed{ }}$$

$$1 \times 2 = \boxed{ 3 \times 3 = \boxed{ }}$$

$$7 \times 7 = \boxed{ }$$
 $4 \times 6 = \boxed{ }$

$$6 \times 4 = \boxed{} \qquad 4 \times 2 = \boxed{}$$

$$4 \times 7 =$$
 $2 \times 5 =$

$$3 \times 4 =$$
 $1 \times 1 =$ $7 \times 5 =$ $3 \times 5 =$

$$3 \times 1 = \boxed{}$$
 $5 \times 2 = \boxed{}$

$$1 \times 7 = \boxed{} \qquad 5 \times 3 = \boxed{}$$

$$4 \times 1 =$$
 $7 \times 1 =$

$$2 \times 6 =$$
 $3 \times 7 =$ $6 \times 6 =$

$$3 \times 2 =$$
 $1 \times 3 =$ $1 \times 5 =$ $3 \times 6 =$

$$6 \times 2 = \boxed{} \qquad 7 \times \\ 2 \times 7 = \boxed{} \qquad 4 \times \\ \boxed{}$$

$$2 \times 7 = \boxed{}$$
$$5 \times 1 = \boxed{}$$

$$2 \times 2 = \square$$

$$7 \times 3 =$$

$$2 \times 1 =$$

$$5 \times 7 =$$

$$4 \times 2 =$$

$$2 \times 5 =$$

$$5 \times 2 =$$

$$5 \times 3 =$$

$$7 \times 1 =$$

$$3 \times 7 =$$

$$1 \times 3 =$$

$$3 \times 6 =$$

$$7 \times 2 =$$

$$4 \times 4 =$$

$$1 \times 1 =$$

$$7 \times 3 =$$

$$6 \times 1 = \square$$

$$6 \times 2 =$$

$$7 \times 5 =$$

$$1 \times 4 = \boxed{ }$$

$$1 \times 5 = \boxed{ }$$

$$6 \times 4 =$$

$$2 \times 7 =$$

$$6 \times 3 = \boxed{}$$

$$2 \times 5 =$$

$$7 \times 1 =$$

$$5 \times 3 =$$

$$6 \times 7 = \boxed{}$$
$$7 \times 6 = \boxed{}$$

$$5 \times 2 =$$

$$2 \times 3 =$$

$$3 \times 5 =$$

$$5 \times 5 =$$

$$2 \times 4 =$$

$$5 \times 7 =$$

$$6 \times 5 =$$

$$3 \times 6 =$$

$$4 \times 7 =$$

$$7 \times 7 =$$

$$3 \times 1 =$$

$$4 \times 4 =$$

$$3 \times 3 =$$

$$3 \times 4 =$$

$$5 \times 4 =$$

$$5 \times 6 =$$

$$7 \times 2 =$$

$$2 \times 6 =$$

$$3 \times 2 =$$

$$6 \times 6 =$$

$$2 \times 1 =$$

$$2 \times 2 =$$

$$1 \times 3 = \boxed{ }$$

$$4 \times 1 = \boxed{ }$$

$$4 \times 2 =$$

$$7 \times 4 =$$

$$4 \times 3 =$$

$$3 \times 7 =$$

$$4 \times 5 =$$

$$1 \times 2 =$$

$$1 \times 6 =$$

$$4 \times 6 =$$

$$1 \times 7 =$$

$$5 \times 1 =$$

$$4 \times 3 =$$

$$2 \times 1 =$$